20249 M AIEU LA

(PRI = HEH-00ISS X & AY)

B AYAE 52 EEREED
4= 2004 | 20241 s2 H= 202414 202414 s2
e = JEAM) | BEAG) [ ar@n) [mew| (2] 2| B JNBHA) | 2ENB) | os(gp) |BIE (W)
Mg s 7,793,969| 7,507,663 286,306 n4l | s 7,793,969 7,507,663|  ~286,306 ~4
Abgi 4! 5,624,238| 5,200,508 423,640 A8 Areil 7,760,424| 7,474,118 286,306 ~4
Abgi 4! 5,624,238| 5,200,508 423,640 A8 OIS = X2 AN R BI (2 T ALDS ) 7,760,424| 7,474,118 286,306 ~4
OlOISE OISTHEES (M) | 3,559,134| 3,422,0000 £137,134] A4 OIS20l B#S4Y(2X3) 1,009,302  986,788|  ~22,514 A2
OLOISE OISXEES(XIRE) | 2,065,104 1,778,508 A286,506] A 14 OIS20l 2SS4 (HE3) 3,550,135 3,422,000 137,135 ~4
CES=E 2,135,866| 2,273,000( 137,134 6 OOISR0l EE4Z(2RE3) 2,063,473| 1,777,168| 286,305 A4
CES= S 2,135,866| 2,273,000( 137,134 6 EEHESETEES)) 859,507 1,002,535 143,028 17
2ygza LY 1,481,106 1,577,100 95,994 6 ololS 20z (HRE) 1,950 1,950 0 0
NEEES=RN-T 317,380| 337,950 20,570 6 EAT AABI(2F2) 237,296| 252,779 15,483 7
PHEEIAY 317,380| 337,950 20,570 6 FHLYFU(2X2) 29,761 30,898 1,137 4
plISE =BT 20,000{ 20,000 0 0 ot 2 OIEk 33,545 33,545 0 0
olgz 21,4271 21,427 0 0 olblbl 2 DIEH 33,545 33,545 0 0
olgz 21,427| 21,427 0 0 T 33,545 33,545 0 0
rSIEL=N 21,427| 21,427 0 0
Fol 12,438] 12,638 200 2
Fol 12,438] 12,638 200 2
0l 2 0l K22 260 260 0 0
JIEHR 2l 11,858] 11,858 0 0
OlOIER0l BEMS =olRgd 320 520 200 63
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